



Fuzzy Positional Function Via Fuzzy Filter

Mohammed Majid Najm, Luay A. A. AL-Swidi

Abstract: The research was based on the principle of defining the fuzzy positional function applying the fuzzy filter. Significant properties were obtained and examples were provided to clarify these properties.

Keywords: Fuzzy ideal, Fuzzy local function, Fuzzy filter, Fuzzy positional function

I. INTRODUCTION

The fuzzy sets is one of the important and vital topics as it entered into various applied and pure sciences, and it took place in engineering with its various branches, computers and others. Zadeh is the first to define fuzzy sets in 1965[1]. In 2019 Al-Razzaq AS and AL-Swidi LA They classified the fuzzy sets theory as families [2]. Well, in the same year they Finding and Taxonomy a New Fuzzy Soft points [3] and introduce the definition Soft Generalized Vague Sets [4]. Among the pure sciences took a great deal in general topology. Where our research is based on the fuzzy filter. Lowen is the first to introduce the concept in 1979[5]. After which many scientists and researchers who completed this topic came, including Prada and Saralegui they introduce a characterization of fuzzy filter concept [6] in 1988. Sarker is the first to define the fuzzy ideal as well as the fuzzy local function [7] in 1997. In 2019 AL Mohammed R and AL-Swidi LA. They got New Concepts of Fuzzy Local Function [8]. Where there is a relationship between the filter and the ideal in the usual sets, we also found a relationship between them using the fuzzy sets. The research is based on the study of the fuzzy positional function depending the fuzzy filter.

II. PRELIMINARIES

In this section we will mention the most important concepts used in this paper. Where the triple $(\mathcal{I}, \tau, \mathcal{F})$ is called a fuzzy filter topological space (simply FF_TS) for which (\mathcal{I}, τ) is fuzzy topology space in Change [10], and \mathcal{F} is collection fuzzy filter define in Lowen [5].

Manuscript received on February 10, 2020.

Revised Manuscript received on February 20, 2020.

Manuscript published on March 30, 2020.

* Correspondence Author

Mohammed Majid Najm Department of Mathematics, College of Education for Pure Sciences, University of Babylon, Iraq. Email: mohammedmajid1995@yahoo.com

Luay A. A. Al-Swidi, Department of Mathematics, College of Education for Pure Sciences, University of Babylon, Iraq. Email: drluayhal1@yahoo.com

© The Authors. Published by Blue Eyes Intelligence Engineering and Sciences Publication (BEIESP). This is an open access article under the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>)

Definition 2.1.[2].

Let the membership $\mathcal{M}(X, I) = \{ \mathcal{P}; \mathcal{P}: X \rightarrow I \}$ where X any nonempty set, $I = [0, 1]$. A fuzzy set \mathcal{A} of the space $X \times I$ define as follows,

$$\mathcal{A} = \{ (x, \mathcal{P}_{\mathcal{A}}(x)), \forall x \in X \}$$

where the membership $\mathcal{P}_{\mathcal{A}}(x) = \begin{cases} f(x) & \text{for } x \in \mathcal{A} \\ 0 & \text{for } x \notin \mathcal{A} \end{cases}$

Example 2.2.

Let $X = \{1, 2, 3\}$, $\mathcal{A} = \{1\}$ and $\mathcal{B} = \{2, 3\}$, when the memberships of \mathcal{A}, \mathcal{B} are.

$$\mathcal{P}_{\mathcal{A}}(x) = \frac{1}{x^3}, \mathcal{T}_{\mathcal{B}}(x) = \frac{2x-1}{10}. \text{ Hence}$$

$$\mathcal{A} = \{(1,1), (2,0), (3,0)\}, \mathcal{B} = \{(1,0), (2,0.3), (3,0.5)\}.$$

Definition 2.3.[4].

A fuzzy point is fuzzy set in Γ^X denoted by P_x^ε for with support $x \in X$ and $\lambda \in (0, 1]$ and the membership is $P_x^\varepsilon(w) = \begin{cases} \varepsilon & \text{if } w = x \\ 0 & \text{if } w \neq x \end{cases}$,

Note $P_x^\varepsilon \subset \mathcal{A}$ iff $\varepsilon \leq \mathcal{P}_{\mathcal{A}}(x)$ and $\mathcal{A} \subseteq \mathcal{B}$ if and only if $\mathcal{P}_{\mathcal{A}}(x) \leq \mathcal{T}_{\mathcal{B}}(x)$. where \mathcal{A} and \mathcal{B} are fuzzy sets for with

Definition 2.4.[11].

Let \mathcal{A}, \mathcal{B} be a fuzzy sets, then \mathcal{A} is called quasi-coincident with \mathcal{B} denoted by $\mathcal{A} q \mathcal{B}$ iff there exists $y \in X \ni f_{\mathcal{A}}(y) + g_{\mathcal{B}}(y) > 1$. The collection of all quasi-coincident denoted by $q - \mathcal{N}(P_x^\lambda)$. Otherwise, we called \mathcal{A} not quasi-coincident with \mathcal{B} if $f_{\mathcal{A}}(x) + g_{\mathcal{B}}(x) \leq 1, \forall x \in X$ and denoted by $\mathcal{A} \not q \mathcal{B}$.

Lemma 2.4.[12].

Let \mathcal{A} and \mathcal{B} be a fuzzy set in Γ^X . Then the following are satisfying.

1. If $(\mathcal{A} \wedge \mathcal{B}) \neq \emptyset$, then $\exists x \in X$ and $\lambda \in (0, 1]$ such that $\lambda \leq f_{\mathcal{A}}(x)$ and $\lambda \leq g_{\mathcal{B}}(x)$.
2. If $\mathcal{A} \neq \emptyset$, then $\exists x \in X$ and $\lambda \in (0, 1]$ such that $P_x^\lambda \in \mathcal{A}$
3. If $\mathcal{A} \neq \emptyset$, then $\exists x \in X$ and $\lambda \in (0, 1]$ such that $P_x^\lambda q \mathcal{A}$
4. If $(\mathcal{A} \wedge \mathcal{B}) \neq \emptyset$, then $\exists x \in X$ and $\lambda \in (0, 1]$ such that $P_x^\lambda q \mathcal{A}$ and $P_x^\lambda q \mathcal{B}$.
5. If $\mathcal{A} \neq \emptyset$, then $\exists x \in X$ and $\lambda \in (0, 1]$ such that $P_x^\lambda \not q \mathcal{A}$.

Definition 2.5.[9].

Let \mathcal{A}, \mathcal{B} any fuzzy set in Γ^X . stander intersection, The stander of union, difference, complement are from.

1. $\mathcal{A} \wedge \mathcal{B} = \{ (x, \min \{ f_{\mathcal{A}}(x), g_{\mathcal{B}}(x) \}), \forall x \in X \}$
2. $\mathcal{A} \vee \mathcal{B} = \{ (x, \max \{ f_{\mathcal{A}}(x), g_{\mathcal{B}}(x) \}), \forall x \in X \}$
3. Let \mathcal{A}, \mathcal{B} be a fuzzy sets the difference defines by:
 - $(\mathcal{A} - \mathcal{B})_{\max} = \{ (x, \max \{ f_{\mathcal{A}}(x) - g_{\mathcal{B}}(x), 0 \}), \forall x \in X \}$



$$\forall x \in X \}. \\ \bullet (\tilde{A} - \tilde{B})_{min} = \{ (x, \min \{ f_A(x), g_{(1-B)}(x) \}), \\ \forall x \in X \}.$$

$$4. 1 - \tilde{A} = \{ (x, 1 - f_A(x)), \\ \forall x \in X \}.$$

Definition 2.7.[7].

Let $(\tilde{I}, \tau, \tilde{I})$ be a FIFTS . The fuzzy local function of \tilde{A} of the first type $\tilde{A}^{*1}(\tilde{I}, \tau)$ is defined by:

$$\tilde{A}^{*1}(\tilde{I}, \tau) = \{ P_x^\lambda; \forall \tilde{Z} \in q - \mathcal{N}(P_x^\lambda), \exists y \in X \ni \\ f_{\tilde{Z}}(y) + g_{\tilde{A}}(y) - 1 \} > h_{\tilde{I}}(y) \text{ for every } \tilde{I} \in \tilde{I} \}. \text{The fuzzy local} \\ \text{function } \tilde{A}^{*1} \text{ or } \tilde{A}^{*1}(\tilde{I}) \text{ or } \tilde{A}^{*1}(\tilde{I}, \tau).$$

Therefore, if $P_x^\lambda \notin \tilde{A}^{*1}(\tilde{I}, \tau)$. Then there exist $\tilde{W} \in q - \mathcal{N}(P_x^\lambda) \ni \forall x \in X, f_{\tilde{W}}(x) + g_{\tilde{A}}(x) - 1 \leq h_{\tilde{I}}(x)$ for some $\tilde{I} \in \tilde{I}$.

III. FUZZY POSITIONAL FUNCTION

In this section we will introduce a new concept called the fuzzy positional function while discussing the most important characteristics associated with this concept and giving examples showing those characteristics.

Definition 3.1.

Let $(\tilde{I}, \tau, \tilde{F})$ be a FFFTS . the fuzzy positional function of \tilde{A} of the first type $\tilde{A}^{*1}(\tilde{F}, \tau)$ defined by:

$$\tilde{A}^{*1}(\tilde{F}, \tau) = \{ P_x^\lambda; \forall \tilde{u} \in q - \mathcal{N}(P_x^\lambda), \forall y \in X \ni \\ \max \{ 0, f_{\tilde{u}}(y) + g_{\tilde{A}}(y) - 1 \} \geq h_{\tilde{F}}(y) \text{ for some } \tilde{F} \in \tilde{F} \}. \\ \text{The fuzzy positional function of } \tilde{A} \text{ Denoted} \\ \text{by } \tilde{A}^{*1} \text{ or } \tilde{A}^{*1}(\tilde{F}) \text{ or } \tilde{A}^{*1}(\tilde{F}, \tau).$$

Therefore, if $P_x^\lambda \notin \tilde{A}^{*1}(\tilde{F}, \tau)$ then there exist $\tilde{n} \in q - \mathcal{N}(P_x^\lambda), x \in X \max \{ 0, f_{\tilde{n}}(x) + g_{\tilde{A}}(x) - 1 \} < h_{\tilde{F}}(x)$ for every $\tilde{f} \in \tilde{F}$.

Example 3.2.

Let $(\tilde{I}, \tau, \tilde{F})$ be a FFFTS and $X = \{ 1, 2, 3 \}$, A, E, K and F are subset of X s.t

$A = \{ 1, 2, 3 \}$ with the memberships of \tilde{A} ,

$$T_A(x) = \begin{cases} \frac{10-x}{10}, & x \in A \\ 0, & x \notin A \end{cases}$$

$E = \{ 1, 2, 3 \}$ with the memberships of \tilde{E} ,

$$L_E(x) = \begin{cases} \frac{9}{10} & \text{if } x \text{ is odd, } x \in E \\ \frac{3}{5} & \text{if } x \text{ is even, } x \in E \\ 0 & \text{if } , x \notin E \end{cases}$$

$K = \{ 3 \}$ with the memberships of \tilde{K} ,

$$R_K(x) = \begin{cases} \frac{x^2-2}{10}, & x \in K \\ 0, & x \notin K \end{cases}$$

$F = \{ 1, 2, 3 \}$ with the memberships of \tilde{F} ,

$$h_F(x) = \begin{cases} \frac{2x+1}{10}, & x \in F \\ 0, & x \notin F \end{cases}$$

we get,

$$\tilde{A} = \{ (1, 0.9), (2, 0.8), (3, 0.7) \},$$

$$\tilde{E} = \{ (1, 0.9), (2, 0.6), (3, 0.9) \},$$

$$\tilde{K} = \{ (1, 0), (2, 0), (3, 0.7) \},$$

Let $\tau = \{ \tilde{0}, \tilde{1}, \tilde{E}, \tilde{K} \}$ and

$$\tilde{F} = \{ \tilde{I}, \tilde{F} \} \cup \{ \tilde{g}; \tilde{g} \geq \tilde{F} \}. \text{Where}$$

$$\tilde{F} = \{ (1, 0.3), (2, 0.5), (3, 0.7) \}.$$

$$\text{Then, } \tilde{A}^{*1} = \{ (1, 0.1), (2, 0.4), (3, 0.1) \}.$$

Proposition 3.3.

Let $(\tilde{I}, \tau, \tilde{F})$ be a FFFTS , let \tilde{F} be a filter fuzzy, \tilde{I} fuzzy ideal , \tilde{A} any fuzzy set if $\tilde{A} \notin \tilde{I}$ then $\tilde{A}^{*1}(\tilde{F}) \subseteq \tilde{A}^{*1}(\tilde{I})$, with the filter $\tilde{F} = \{ \tilde{A}; \tilde{A}^c \in \tilde{I} \}$, but the converse may be not true.

Proof.

Let $P_x^\lambda \in \tilde{A}^{*1}(\tilde{F})$ for every $\forall \tilde{u} \in q - \mathcal{N}(P_x^\lambda), \forall y \in X; \max \{ 0, f_{\tilde{u}}(y) + g_{\tilde{A}}(y) - 1 \} \geq h_{\tilde{F}}(y)$ for some $\tilde{F} \in \tilde{F}$, but $\tilde{F} = \{ \tilde{A}; \tilde{A}^c \in \tilde{I} \} \forall \tilde{u} \in q - \mathcal{N}(P_x^\lambda), \exists y \in X \ni f_{\tilde{u}}(y) + g_{\tilde{A}}(y) - 1 > h_{\tilde{I}}(y)$ for every $\tilde{I} \in \tilde{I}$. Thus $P_x^\lambda \in \tilde{A}^{*1}(\tilde{I})$.

The following example shows that the converse of property is not true.

Example 3.4.

Let $(\tilde{I}, \tau, \tilde{F})$ be a FFFTS, $X = \{ 1, 2, 3 \}$. A, B, C and I are subset of X such that

$A = \{ 1, 2, 3 \}$ s.t the memberships of \tilde{A} ,

$$f_A(x) = \begin{cases} \frac{10-x}{10}, & x \in A \\ 0, & x \notin A \end{cases}$$

$B = \{ 1, 3 \}$ s.t the memberships of \tilde{B} ,

$$K_B(x) = \begin{cases} \frac{1}{5} & \text{if } x \text{ is odd, } x \in B \\ \frac{7}{10} & \text{if } x \text{ is even, } x \in B \\ 0 & \text{if } , x \notin B \end{cases}$$

$C = \{ 2, 3 \}$ s.t the memberships of \tilde{C} ,

$$g_C(x) = \begin{cases} \frac{3}{10} & \text{if } x \text{ is odd, } x \in C \\ \frac{6}{10} & \text{if } x \text{ is even, } x \in C \\ 0 & \text{if } , x \notin C \end{cases}$$

$I = \{ 1, 2, 3 \}$ s.t the memberships of \tilde{I} ,

$$h_I(x) = \begin{cases} \frac{3x}{10}, & x \in I \\ 0, & x \notin I \end{cases}$$

we get,

$$\tilde{A} = \{ (1, 0.9), (2, 0.8), (3, 0.7) \},$$

$$\tilde{B} = \{ (1, 0.7), (2, 0), (3, 0.7) \},$$

$$\tilde{C} = \{ (1, 0), (2, 0.6), (3, 0.3) \},$$

$$\tilde{B} \wedge \tilde{C} = \{ (1, 0), (2, 0), (3, 0.7) \},$$

$$\tilde{B} \vee \tilde{C} = \{ (1, 0.5), (2, 0.6), (3, 0.3) \}.$$

Let $\tau = \{ \tilde{0}, \tilde{1}, \tilde{B}, \tilde{C}, \tilde{B} \wedge \tilde{C}, \tilde{B} \vee \tilde{C} \}$ and

$\tilde{I} = \{ \tilde{0}, \tilde{f} \} \cup \{ \tilde{g}; \tilde{g} \leq \tilde{f} \}$. Where

$$\tilde{f} = \{ (1, 0.3), (2, 0.6), (3, 0.9) \}.$$

$\tilde{F} = \{ \tilde{I}, \tilde{F} \} \cup \{ \tilde{g}; \tilde{g} \geq \tilde{F} \}$. Where

$$\tilde{F} = \{ (1, 0.7), (2, 0.4), (3, 0.1) \}.$$

thus, $\tilde{A}^{*1} = \{ (1, 1), (2, 0.4), (3, 0.3) \}$.

But $\tilde{A}^{*1} = \{ (1, 0.5), (2, 0.4), (3, 0.3) \}$.

Theorem 3.5.

Let $(\tilde{I}, \tau, \tilde{F})$ be a FFFTS . Let \tilde{F} fuzzy filter and \tilde{A}, \tilde{B} any two fuzzy sets. Then the following are satisfying.

$$1. \tilde{A} \subseteq \tilde{B} \implies \tilde{A}^{*1} \subseteq \tilde{B}^{*1}.$$

$$2. (\tilde{A} \vee \tilde{B})^{*1} =$$

$$\tilde{A}^{*1} \vee \tilde{B}^{*1}.$$

$$3. (\check{A} \wedge \check{B})^{\#1} = \check{A}^{\#1} \wedge \check{B}^{\#1}.$$

Proof.

1. Let $P_x^\lambda \in \check{A}^{\#1}$ for every $\check{U} \in q-\mathcal{N}(P_x^\lambda) \forall y \in X \ni \max\{0, f_U(y) + g_A(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{\mathcal{F}}$.

since $\check{A} \leq \check{B}$,so $g_A(y) \leq g_B(y)$ then $f_U(y) + g_A(y) - 1 \leq f_U(y) + g_B(y) - 1$ this leads to $\max\{0, f_U(y) + g_B(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{\mathcal{F}}$, thus $P_x^\lambda \in \check{B}^{\#1}$.

2. $\check{A} \subseteq (\check{A} \vee \check{B})$, this implies $\check{A}^{\#1} \subseteq (\check{A} \vee \check{B})^{\#1}$, by (1).

Also $\check{B} \subseteq (\check{A} \vee \check{B})$ this implies $\check{B}^{\#1} \subseteq (\check{A} \vee \check{B})^{\#1}$, by (1). Thus $\check{A}^{\#1} \vee \check{B}^{\#1} \subseteq (\check{A} \vee \check{B})^{\#1}$

Conversely , let $P_x^\lambda \in (\check{A} \vee \check{B})^{\#1}$ if possible that $P_x^\lambda \notin (\check{A}^{\#1} \vee \check{B}^{\#1})$, which means $P_x^\lambda \notin \check{A}^{\#1}$ and $P_x^\lambda \notin \check{B}^{\#1}$, then there exist $\check{U} \in q-\mathcal{N}(P_x^\lambda)$ such that, $\exists x \in X \ni$

$\max\{0, f_{1U}(x) + g_{1A}(x) - 1\} < h_{1F_1}(x)$ for every $\check{F}_1 \in \check{\mathcal{F}}$ and there exists $\check{V} \in q-\mathcal{N}(P_x^\lambda)$ such that $\exists x \in X \ni \max\{0, f_{2V}(x) + g_{2B}(x) - 1\} < h_{2F_2}(x)$ for every $\check{F}_2 \in \check{\mathcal{F}}$

Clear, $(\check{U} \wedge \check{V}) \in q-\mathcal{N}(P_x^\lambda)$ put up $(\check{U} \wedge \check{V}) = \check{W} \in q-\mathcal{N}(P_x^\lambda)$, But $\max\{0, f_{3W}(x) + g_{1A}(x) - 1\} \leq \max\{0, f_{1U}(x) + g_{1A}(x) - 1\} \leq h_{1F_1}(x)$, also $\max\{0, f_{3W}(x) + g_{2B}(x) - 1\} \leq \max\{0, f_{2V}(x) + g_{2B}(x) - 1\} \leq h_{2F_2}(x)$, thus $\max\{\max\{0, f_{3W}(x) + g_{1A}(x) - 1\}, \max\{0, f_{3W}(x) + g_{2B}(x) - 1\}\} \leq \max\{h_{1F_1}(x), h_{2F_2}(x)\}$, then $\max\{0, f_{3W}(x) + \max\{g_{1A}(x), g_2(x)\} - 1\} \leq \max\{h_{1F_1}(x), h_{2F_2}(x)\}$,

then there exists $\check{W} \in q-\mathcal{N}(P_x^\lambda)$ s.t for some $x \in X$, $\max\{0, f_{3W}(x) + g_{3(A \vee B)}(x) - 1\} \leq h_{3(F_1 \vee F_2)}(x)$ for every $(\check{F}_1 \vee \check{F}_2) \in \check{\mathcal{F}}$, this means $P_x^\lambda \in \check{A}^{\#1} \vee \check{B}^{\#1}$ which contradiction, thus $(\check{A} \vee \check{B})^{\#1} \subseteq \check{A}^{\#1} \vee \check{B}^{\#1}$.

$$3. (\check{A} \wedge \check{B}) \subseteq \check{A}, \text{ This implies } (\check{A} \wedge \check{B})^{\#1} \subseteq \check{A}^{\#1},$$

$$(\check{A} \wedge \check{B}) \subseteq \check{B}, \text{ This implies } (\check{A} \wedge \check{B})^{\#1} \subseteq \check{B}^{\#1}, \text{ thus}$$

$$(\check{A} \wedge \check{B})^{\#1} \subseteq \check{A}^{\#1} \wedge \check{B}^{\#1}.$$

Again, Let $P_y^\lambda \in (\check{A}^{\#1} \wedge \check{B}^{\#1})$, this implies $P_y^\lambda \in \check{A}^{\#1}$ and $P_y^\lambda \in \check{B}^{\#1} \forall \check{U} \in q-\mathcal{N}(P_y^\lambda) \forall y \in X$

s.t $\max\{0, f_{1U}(y) + g_{1A}(y) - 1\} \geq h_{2F_1}(y)$ for some $\check{F}_1 \in \check{\mathcal{F}}$.So, $\forall \check{V} \in q-\mathcal{N}(P_y^\lambda); \forall y \in X \ni \max\{0, f_{2V}(y) + g_{2B}(y) - 1\} \geq h_{2F_2}(y)$ for some $\check{F}_2 \in \check{\mathcal{F}}$.

If possible $P_y^\lambda \notin (\check{A} \wedge \check{B})^{\#1}$. then $\exists \check{W} \in q-\mathcal{N}(P_y^\lambda) \exists y \in X; \{0, f_{3W}(y) + \min\{g_{1A}(y), g_{2B}(y)\} - 1\} < h_j(y)$ for every $j \in \check{\mathcal{F}}$.

if $\min\{g_{1A}(y), g_{2B}(y)\} = g_{1A}(y)$ this implies that, $\max\{0, f_{3W}(y) + g_{1A}(y) - 1\} < h_j(y)$ for some $j \in \check{\mathcal{F}}$ this contradiction. Also when $\min\{g_{1A}(y), g_{2B}(y)\} = g_{2B}(y)$, thus $\max\{0, f_{3W}(y) + g_{2B}(y) - 1\} < h_j(y)$ for every $j \in \check{\mathcal{F}}$ this contradiction. Hence $P_y^\lambda \in (\check{A} \wedge \check{B})^{\#1}$. Thus $\check{A}^{\#1} \wedge \check{B}^{\#1} \subseteq (\check{A} \wedge \check{B})^{\#1}$.

Remark 3.6.

The converse of property 1 is not satisfying as in the example.

Let $(\check{I}, \tau, \check{F})$ be a FFFTS and $X = \{1, 2, 3\} = A = B = F = C, D = \{2\}$. The membership of $\check{A}, \check{B}, \check{C}, \check{F}$ and \check{D} are.

$$f_A(x) = \frac{x+4}{10} \quad \forall x \in A, \quad g_B(x) = \frac{x+6}{10} \quad \forall x \in B,$$

$$K_C(x) = \frac{10-x}{10} \quad \forall x \in C, \quad h_D(x) = \frac{x}{10} \quad \forall x \in D,$$

$$h_F(x) = \frac{x+3}{10} \quad \forall x \in F_1.$$

$$\check{A} = \{(1, 0.5), (2, 0.6), (3, 0.7)\},$$

$$\check{B} = \{(1, 0.7), (2, 0.8), (3, 0.9)\}$$

$$\check{C} = \{(1, 0.9), (2, 0.8), (3, 0.7)\},$$

$$\check{D} = \{(1, 0), (2, 0.2), (3, 0)\},$$

$$\text{Let } \tau = \{\check{0}, \check{1}, \check{C}, \check{D}\} \text{ and}$$

$$\check{F} = \{\check{1}, \check{F}\} \cup \{\check{k}; \check{k} \geq \check{F}_1\}. \text{ Where}$$

$$\check{F} = \{(1, 0.4), (2, 0.5), (3, 0.6)\}.$$

$$\text{Then, } \check{A}^{\#1} = \{(1, 0.1), (2, 0.2), (3, 0.3)\}. \text{ And,}$$

$$\check{B}^{\#1} = \{(1, 1), (2, 0.2), (3, 1)\}.$$

$$\text{Hence } \check{B}^{\#1} \not\subseteq \check{A}^{\#1}$$

Theorem 3.7.

Let $(\check{I}, \tau, \check{F})$ be a FFFTS. Let \check{F} fuzzy filter and \check{A} any fuzzy set. Then the following are satisfying.

$$1. (\check{A}^{\#1})^{\#1} \subseteq \check{A}^{\#1}.$$

$$2. \check{A}^{\#1} = cl(\check{A}^{\#1}) \subseteq cl(\check{A}).$$

$$3. \check{0}^{\#1} = \check{0} \notin \check{\mathcal{F}}.$$

$$4. \check{A} \notin \check{\mathcal{F}} \implies \check{A}^{\#1} = \phi \notin \check{\mathcal{F}}.$$

$$5. \check{F} \notin \check{\mathcal{F}} \implies ((\check{A} - \check{F})_{(max) \text{ or } (min)})^{\#1} \subseteq \check{A}^{\#1} = (\check{A} \vee \check{F})^{\#1}.$$

Proof.

1. Let $P_x^\lambda \in (\check{A}^{\#1})^{\#1}$, this leads $\forall \check{U} \in q-\mathcal{N}(P_x^\lambda) \forall y \in X$ such that $\max\{0, f_U(y) + g_{\check{A}^{\#1}}(y) - 1\} > h_j(y)$ for some $j \in \check{\mathcal{F}}$. This mean $f_U(y) > h_j(y)$ and $g_{\check{A}^{\#1}}(y) > h_j(y)$ for every $j \in \check{\mathcal{F}}$.

If possible $P_x^\lambda \notin \check{A}^{\#1}$, this implies $\exists \check{V} \in q-\mathcal{N}(P_x^\lambda), \exists x \in X$ then, $\max\{0, k_V(x) + H_{\check{A}}(x) - 1\} < h_j(x)$ for some $j \in \check{\mathcal{F}}$. This means either $k_V(x) \leq h_j(x)$ for some $j \in \check{\mathcal{F}}$ this is a contradiction, or $H_{\check{A}}(x) \leq h_j(x)$ for some $j \in \check{\mathcal{F}}$ this implies $\check{A}^{\#1} = \check{0}$ that is also contradiction, thus $P_x^\lambda \in \check{A}^{\#1}$.

2. Clearly, $\check{A} \subseteq cl(\check{A})$ this implies $\check{A}^{\#1} \subseteq cl(\check{A}^{\#1})$

Let $P_x^\lambda \in cl(\check{A}^{\#1})$ for each $\check{U} \in q-\mathcal{N}(P_x^\lambda) \forall y \in X \ni f_U(y) + g_{\check{A}^{\#1}}(y) > 1$, this means $\check{U} \wedge \check{A}^{\#1} \neq \check{0}$, thus $g_{\check{A}^{\#1}}(y) \neq 0$,

by lemma 2.4 part (2) there exists fuzzy point $P_{y_0}^\epsilon \in \check{A}^{\#1}$ which means that $0 < \epsilon \leq 1$ and $\forall y_0 \in X \ni$,

$$\max\{0, f_V(y_0) + g_A(y_0) - 1\} \geq h_j(y_0) \text{ for some } j \in \check{\mathcal{F}} \text{ and } \forall \check{V} \in q-\mathcal{N}(P_{y_0}^\epsilon),$$

but $f_U(y) + \epsilon > 1$, this means \check{U} is also $q-\mathcal{N}(P_{y_0}^\epsilon)$, so we get that

$$\max\{0, f_U(y_0) + g_A(y_0) - 1\} > h_j(y_0) \text{ for some } j \in \check{\mathcal{F}}$$

\check{F} but \check{U} is also $q\text{-}\mathcal{N}(P_x^\lambda)$, thus $P_x^\lambda \in \check{A}^{\#1}$.

Again $P_x^\lambda \notin cl(\check{A})$ there exist $\check{U} \in q\text{-}\mathcal{N}(P_x^\lambda) \forall y \in X$

such that $\check{U} \wedge \check{A} = \check{0}$, hence $\forall y \in X$ s.t

$max\{0, f_u(y) + g_{\check{A}}(y) - 1\} = 0 \notin \check{F}$, thus $P_x^\lambda \notin \check{A}^{\#1}$.

3. If possible $\check{0}^{\#1} \neq \check{0}$, there exists $P_x^\lambda \in 0^{z\#2}$ such that $\check{U} \in q\text{-}\mathcal{N}(P_x^\lambda) \forall y \in X \ni max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{F}$, but $g_0(y) = 0$ then $max\{0, f_u(y) - 1\} = 0$ this contradiction, thus $\check{0}^{\#1} = \check{0} \notin \check{F}$.

4. If possible $\check{A}^{\#1} \neq \phi$, there exists $P_x^\lambda \in \check{A}^{\#1}$, for every $\check{U} \in q\text{-}\mathcal{N}(P_x^\lambda); \forall y \in X \ni max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{F}$, but $max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \leq g_{\check{A}}(y)$, thus $g_{\check{A}}(y) \leq h_F(y) \forall y \in X$. therefore $\check{A} \notin \check{F}$ contradiction. Thus, $\check{A}^{\#1} = \phi \notin \check{F}$.

5. Let $P_x^\lambda \in (\check{A} - \check{F})^{\#1}$, $\forall \check{U} \in q\text{-}\mathcal{N}(P_x^\lambda) \forall y \in X \ni max\{0, f_u(y) + g_{(\check{A}-\check{F})}(y) - 1\} \geq h_j(y)$ for some $\check{J} \in \check{F}$, since $\check{A} - \check{F} \leq \check{A}$, this means $max\{0, f_u(y) + g_{\check{A}}(y) - 1\} > h_j(y)$ for some $\check{J} \in \check{F}$, thus $P_x^\lambda \in \check{A}^{\#1}$.

Again, $(\check{A} \vee \check{F})^{\#1} = \check{A}^{\#1} \vee \check{F}^{\#1} = \check{A}^{\#1} \vee \phi = \check{A}^{\#2}$

Theorem 3.8.

Let $(\check{I}, \tau, \check{F})$ be a FFTS. Let \check{F}_1, \check{F}_2 two fuzzy filters and \check{A}, \check{B} be a fuzzy sets. Then the following are satisfying.

- $\check{F}_1 \subseteq \check{F}_2 \implies \check{A}^{\#1}(\check{F}_2) \subseteq \check{A}^{\#1}(\check{F}_1)$.
- $\check{A}^{\#1}(\check{F}_1 \wedge \check{F}_2) = \check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2)$.
- $\check{A}^{\#1}(\check{F}_1 \vee \check{F}_2) \subseteq \check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2)$.

Proof.

1. Let $P_x^\lambda \in \check{A}^{\#1}(\check{F}_2)$, for every $\check{U} \in q\text{-}\mathcal{N}(P_x^\lambda) \forall y \in X \ni max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{F}_2$, since $\check{F}_1 \subseteq \check{F}_2$, this implies $max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq h_F(y)$ for some $\check{F} \in \check{F}_1$, thus $P_x^\lambda \in \check{A}^{\#1}(\check{F}_1)$.

2. $\check{F}_1 \wedge \check{F}_2 \leq \check{F}_1$, this leads $\check{A}^{\#1}(\check{F}_1) \leq \check{A}^{\#1}(\check{F}_1 \wedge \check{F}_2)$, also

$\check{F}_1 \wedge \check{F}_2 \leq \check{F}_2$, this leads $\check{A}^{\#1}(\check{F}_2) \leq \check{A}^{\#1}(\check{F}_1 \wedge \check{F}_2)$, then

$$\check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2) \leq \check{A}^{\#1}(\check{F}_1 \wedge \check{F}_2)$$

Conversely, let $P_x^\lambda \in \check{A}^{\#1}(\check{F}_1 \wedge \check{F}_2)$ for every $\check{U} \in q\text{-}\mathcal{N}(P_x^\lambda), y \in X \ni max\{0, f_u(y) + g_{\check{A}}(y) - 1\} > min\{l_j(y), k_j(y)\}$ for every $j \in \check{F}_1, j \in \check{F}_2$,

but $min\{l_j(y), k_j(y)\} = \begin{cases} l_j(y) & \text{if } l_j(y) \leq k_j(y) \\ k_j(y) & \text{if } l_j(y) \geq k_j(y) \end{cases}$, hence

$$max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq l_j(y)$$

or $max\{0, f_u(y) + g_{\check{A}}(y) - 1\} \geq k_j(y)$,

this implies $P_x^\lambda \in \check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2)$.

3. $\check{F}_1 \subseteq (\check{F}_1 \vee \check{F}_2)$ by part(2)

$$\check{A}^{\#1}(\check{F}_1 \vee \check{F}_2) \subseteq \check{A}^{\#1}(\check{F}_1),$$

also $\check{F}_2 \subseteq (\check{F}_1 \vee \check{F}_2)$ by part (2)

$\check{A}^{\#1}(\check{F}_1 \vee \check{F}_2) \subseteq \check{A}^{\#1}(\check{F}_2)$, thus

$$\check{A}^{\#1}(\check{F}_1 \vee \check{F}_2) \subseteq \check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2).$$

Remark 3.9.

The converse of properties 1 and 3 are not true as in the example.

Let $(\check{I}, \tau, \check{F})$ be a FFTS, and $X = \{1, 2, 3\} = A = B = F_1 = F_2, C = \{2\}$. The membership of $\check{A}, \check{B}, \check{F}_1, \check{F}_2$ and \check{C} , are.

$$f_A(x) = \frac{x+6}{10} \quad \forall x \in A, \quad g_B(x) = \frac{x+5}{10} \quad \forall x \in B, \quad h_{F_1}(x) = \frac{x}{10} \quad \forall x \in F_1,$$

$$h_{F_2}(x) = \frac{x+3}{10} \quad \forall x \in F_2, \quad K_C(x) = \frac{x^3+1}{10} \quad \forall x \in C.$$

$$\check{A} = \{(1, 0.7), (2, 0.8), (3, 0.9)\},$$

$$\check{B} = \{(1, 0.6), (2, 0.7), (3, 0.8)\},$$

$$\check{C} = \{(1, 0), (2, 0.9), (3, 0)\},$$

$$\check{B} \wedge \check{C} = \{(1, 0), (2, 0.7), (3, 0)\},$$

$$\check{B} \vee \check{C} = \{(1, 0.6), (2, 0.9), (3, 0.8)\}.$$

Let $\tau = \{\check{0}, \check{1}, \check{B}, \check{C}, \check{B} \wedge \check{C}, \check{B} \vee \check{C}\}$ and

$\check{F}_1 = \{\check{1}, \check{F}_1\} \cup \{\check{0}; \check{0} \geq \check{F}_1\}$. Where

$$\check{F}_1 = \{(1, 0.1), (2, 0.2), (3, 0.3)\}.$$

$\check{F}_2 = \{\check{1}, \check{F}_2\} \cup \{\check{0}; \check{0} \geq \check{F}_2\}$. Where

$$\check{F}_2 = \{(1, 0.4), (2, 0.5), (3, 0.6)\}.$$

Then, $\check{A}^{\#1}(\check{F}_1) = \{(1, 1), (2, 0.1), (3, 1)\}$. And,

$$\check{A}^{\#1}(\check{F}_2) = \{(1, 0.4), (2, 0.1), (3, 0.2)\}.$$

$\check{A}^{\#1}(\check{F}_1) \not\subseteq \check{A}^{\#1}(\check{F}_2)$

Also, $\check{A}^{\#1}(\check{F}_1 \vee \check{F}_2) = \{(1, 0.4), (2, 0.1), (3, 0.2)\}$. And,

$$\check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2) = \{(1, 1), (2, 0.1), (3, 1)\}.$$

$$\check{A}^{\#1}(\check{F}_1) \vee \check{A}^{\#1}(\check{F}_2) \not\subseteq \check{A}^{\#1}(\check{F}_1 \vee \check{F}_2).$$

REFERENCES

- Zadeh LA. Fuzzy sets. Information and control. 1965 Jun 1;8(3):338-53.
- Al-Razzaq AS, AL-Swidi LA. On Classification of Fuzzy Set Theory. J. Modern. Math. Statistics. 2018. To appear.
- Al-Razzaq AS, AL-Swidi LA. Finding and Taxonomy a New Fuzzy Soft Points. J. Modern. Math. Statistics. 2019. To appear.
- Razzaq AS, Swidi LA. Soft Generalized Vague Sets: An application in Medical Diagnosis. Indian Journal of Public Health Research & Development. 2019;10(2):901-7.
- Lowen R. Convergence in fuzzy topological spaces, General Topol. InAppl 1979 (Vol. 10, No. 2, pp. 147-160).
- De Prada Vicente MA, Aranguren MS. Fuzzy filters. Journal of Mathematical Analysis and Applications. 1988 Feb 1;129(2):560-8.
- Sarkar D. Fuzzy ideal theory fuzzy local function and generated fuzzy topology. Fuzzy sets and systems. 1997 Apr 1;87(1):117-23.
- Almohammed R, AL-Swidi LA. New Concepts of Fuzzy Local Function. Baghdad sci. 2019. To appear.
- Almohammed R, AL-Swidi LA. Generate a New Types of Fuzzy Ψ_i -operator. In International Conference on Information, Communication and Computing Technology 2019 Oct 30 (pp. 28-39). Springer, Cham.
- Chang CL. Fuzzy topological spaces. Journal of mathematical Analysis and Applications. 1968 Oct 1;24(1):182-90.
- Pao-Ming P, Ying-Ming L. Fuzzy topology .I. Neighborhood structure of a fuzzy point and Moore- Smith convergence. J. Math. Anal. Appl. 1980; 76(2): 571- 599.
- Almohammed R, AL-Swidi LA. Combination of Fuzzy Sets with Local Functions. Degree of Master Univ., Babylon 2019.



AUTHORS PROFILE



Mohammed Majid Najm Master student at Babylon University / College of Education for Pure Sciences / Department of Mathematics. A Bachelor's graduate in the year 2017 from the same university, college and department mentioned above.



Luay A. A. Al-Swidi He holds a PhD in Mathematical Sciences from Al-Mustansiriya University in 1999. Holds the title of Professor. Research interests in topological space. He has published 48 papers in various international journals.